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Level I - Question Paper 2022-2023

Instruction for Candidate
1. Please do not open the question paper unless you are instructed to do so.
2. Write your Name, School Name and Exam Roll No. in both question paper

and answer sheet in capital letter. Additional 5 minutes will be given to do
so.

3. All questions are compulsory, carrying 1 mark each, there is no negative
marking.

4. Each question has three options for answer out of which only one option is
right.

5. Candidates should darken the right circle on the answer sheet with pencil,
blue or black pen only.

6. Candidate is not allowed to use calculator during the exam.
7. Rough work should be done in the space separately provided in the ques-

tion paper for the same.
8. Candidate is requested to return the answer sheet along with the question

paper to the supervisor at the end of the exam.
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Q.1 FILL IN THE BLANKS

1. 4 c 9 = ____
a) 36 b) 34 c) 32

2. 9 c 9 = ____
a) 51 b) 71 c) 81

3. 7 c 8 = ____
a) 49 b) 56 c) 42

4. 8 c 6 = ____
a) 64 b) 56 c) 48

5. 5 c 10 = ____
a) 50 b) 40 c) 30

6. 10 c 10 = ____
a) 90 b) none c) 100

7. 6 c 8 = ____
a) 42 b) 36 c) 48

8. 9 c 5 = ____
a) 36 b) 45 c) 54

9. 8 c 9 = ____
a) 72 b) 64 c) 56

10. 7 c 5 = ____
a) 28 b) 42 c) 35

11. 5 c 3 = ____
a) 20 b) 10 c) 15

12. 8 c 8 = ____
a) 72 b) 56 c) 64

13. 9 c 3 = ____
a) 36 b) 27 c) 45

14. 10 c 6 = ____
a) 50 b) 60 c) 40

15. 6 c 9 = ____
a) 54 b) 48 c) 42

ROUGH WORK
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16. 6 c 6 = ____
a) 42 b) 30 c) 36

17. 5 c 8 = ____
a) 35 b) 30 c) 40

18. 7 c 3 = ____
a) 21 b) 28 c) 14

19. 4 c 6 = ____
a) 20 b) 24 c) 28

20. 2 c 9 = ____
a) 16 b) 14 c) 18

Q.2 PICK THE RIGHT ONE OUT

21. a) 6 c 5 = 25 b) 5 c 5 = 25 c) 4 c 5 = 25

22. a) 7 c 7 = 46 b) 6 c 8 = 48 c) 8 c 7 = 54

23. a) 3 c 3 = 10 b) 2 c 3  = 6 c) 4 c 3 = 14

24. a) 10 c 4 = 40 b) 10 c 9 = 80 c) 10 c 10 = 10

25. a) 7 c 7 = 46 b) 9 c 7 = 64 c) 8 c 8 = 64

26. a) 9 c 9 = 80 b) 8 c 5 = 40 c) 7 c 7 = 48

27. a) 7 c 0 = 7 b) 6 c 2 = 14 c) 4 c 2 = 8

28. a) 9 c 8 = 72 b) 6 c 9 = 56 c) 7 c 5 = 40

29. a) 6 c 3 = 16 b) 2 c 9  = 18 c) 8 c 2 = 18

30. a) 0 c 4 = 4 b) 4 c 0 = 0 c) 1 c 4 = 0

Q.3 FIND THE BIGGEST OPTION

31. a) 5 c 3 b) 2 c 7 c) 3 c 4

32. a) 4 c 7 b) 9 c 3 c) 10 c 2

33. a) 7 c 6 b) 8 c 7 c) 9 c 4

ROUGH WORK
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34. a) 10 c 3 b) 6 c 6 c) 8 c 4

35. a) 6 c 9 b) 10 c 7 c) 7 c 7

36. a) 4 c 4 b) 3 c 9 c) 5 c 3

37. a) 5 c 6 b) 6 c 4 c) 9 c 3

38. a) 8 c 10 b) 9 c 9 c) 10 c 7

39. a) 8 c 8 b) 6 c 8 c) 7 c 9

40. a) 5 c 8 b) 7 c 6 c) 9 c 4

Q.4 FIND THE FACTOR OF

41. 10
a) 5 b) 6 c) 8

42. 14
a) 3 b) 4 c) 2

43. 16
a) 10 b) 4 c) 5

44. 35
a) 8 b) 9 c) 7

45. 48
a) 9 b) 7 c) 8

46. 9
a) 2 b) 9 c) 4

47. 50
a) 8 b) 5 c) 7

48. 54
a) 7 b) 8 c) 9

49. 81
a) 8 b) 6 c) 9

50. 30
a) 7 b) 8 c) 6

ROUGH WORK
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Q.5 PUT IN CORRECT ORDER

51. 5 6 30
a) 5 c 30 = 6 b) 5 c 6 = 30 c) 30 c 6 = 5

52. 6 18 3
a) 3 c 18 = 6 b) 6 c 18 =3 c) 3 c 6 = 18

53. 20 4 5
a) 20 c 4 = 5 b) 20 c 5 = 4 c) 5 c 4 = 20

54. 8 7 56
a) 7 c 56 = 8 b) 7 c 8 = 56 c) 8 c 56 = 7

55. 100 10 10
a) 10 c 100 = 10 b) 100 c 10 = 10 c) 10 c 10 = 100

56. 4 8 32
a) 4 c 32 = 8 b) 8 c 4 = 32 c) 8 c 32 = 4

57. 72 9 8
a) 8 c 9 = 72 b) 8 c 72 = 9 c) 9 c 72 = 8

58. 9 81 9
a) 9 c 81 = 9 b) 81 c 9 = 9 c) 9 c 9 = 81

59. 6 2 3
a) 2 c 6 = 3 b) 3 c 2 = 6 c) 3 c 6 = 2

60. 8 10 80
a) 10 c 80 = 8 b) 10 c 8 = 80 c) 80 c 10 = 8

Q.6 MULTIPLE MULTIPLY

61. 2 c 4 c 1 = ____
a) 6 b) 9 c) 8

62. 5 c 2 c 2 = ____
a) 20 b) 10 c) 4
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63. 6 c 1 c 6 = ____
a) 1 b) 6 c) 36

64. 5 c 3 c 3 = ____
a) 40 b) 45 c) 35

65. 4 c 0 c 4 = ____
a) 4 b) 0 c) 1

66. 8  c 3  c 3 = ____
a) 72 b) 9 c) 24

67. 4 c 2 c 7 = ____
a) 56 b) 14 c) 26

68. 1 c 10 c 5 = ____
a) 10 b) 15 c) 50

69. 9 c 4 c 2 = ____
a) 72 b) 8 c) 36

70. 1 c 10 c 1 = ____
a) 50 b) 15 c) 10

Q.7 CHOOSE THE ODD PAIR OF NUMBERS

71. a) 8 40 b) 9 36 c) 7 35

72. a) 5 30 b) 7 14 c) 1 6

73. a) 4 32 b) 2 18 c) 8 72

74. a) 9 90 b) 7 63 c) 10 100

75. a) 6 24 b) 8 24 c) 10 30

76. a) 5 45 b) 8 64 c) 7 56

77. a) 10 10 b) 1 1 c) 10 100

78. a) 9 27 b) 3 6 c) 8 16

79. a) 6 6 b) 7 14 c) 10 10

80. a) 8 32 b) 1 4 c) 6 12

ROUGH WORK
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Q.8 FIND THE VALUE OF ‘S’

81. ‘S’ c 5 = 7 c 5
a) 6 b) 5 c) 7

82. ‘S’ c 2 = 4 c 5
a) 5 b) 3 c) 10

83. 10 c 4 = 5 c ‘S’
a) 8 b) 7 c) 6

84. 2 c 6 = 4 c ‘S’
a) 3 b) 2 c) 1

85. 8 c ‘S’ = 6 c 4
a) 2 b) 3 c) 4

86. 10 c ‘S’ = 8 c 10
a) 9 b) 8 c) 7

87. 9 c 5 = 5 c ‘S’
a) 9 b) 8 c) none

88. 7 c 6 = ‘S’ c  6
a) 7 b) 1 c) 8

89. 3  c ‘S’ = 9 c 1
a) 1 b) 2 c) 3

90. 10 c ‘S’ = 10 c 10
a) 10 b) 0 c) 4

Q.9 WORD PROBLEM

91. Choose the largest option
a) 7 c 4 b) 6 c 3 c) 5 c 8

92. Choose the number to be multiply by 7 to get 49
a) 7 b) 6 c) 4

93. Choose the wrong option
a) 4 c 5 = 25 b) 6 c 6 = 36 c) 7 c 3 = 21

ROUGH WORK
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94. Find the product of 9 and 9
a) 63 b) 72 c) 81

95. Pick odd one out

a) 6 12 b) 5 10 c) 2 10

96. Select the factor of 100
a) 8 b) 10 c) 6

97. Choose the correct equation
a) 7 c 10 = 9 c 8 b) 8 c 5 = 10 c 4 c) 9 c 9 = 8 c 10

98. Find the value of P
10 c P = 5 c 4
a) 0 b) 2 c) 1

99. Choose the correct option and balance the equation     50 = 5 c ___
a) 2 c 2 b) 5 c 2 c) 4 c 2

100. Multiple multiply – 4 c 5 c 2
a) 50 b) 40 c) 30

ROUGH WORK


